
45
°,
22
5°

sin x =
3

2
; 0°≤ x ≤ 360°

4s
in
2 x
−
5s
in
x
+
1=
0
;
0°
≤
x
≤
36
0°tan

x
=
1
;
0°≤

x
≤
360°

53.1°,306.9°

90°,14.5°,165.5°

2s
in
x
=
co
s
x
;
0°
≤
x
<
18
0°

4−sinx=4cos2x ; 0°≤ x ≤ 360°

30
°,
60
°26.6°

2sin
2
x−sinx=0;0°≤x≤360°

sin
2x
=

3
2
;
0°
≤
x
≤
180°

112.5°,202.5°

30
°,
21
0°

ta
n
x
=
−
2
;
0°
≤
x
≤
36
0°tan

x
=
1
3 ;
0°≤

x
≤
360°

60°,120°

116.6°,296.6°

si
n
x
=

1
2;
0°
≤
x
≤
36
0°

si
n(
x−
20
°)
=
1
;
0°
≤
x
≤
36
0°

45°, 135°

0°,14.5°,165.5°,180°,360°

110°

co
s(
x+
30
°)
=
1
2;
−
18
0°
≤
x
≤
18
0°

si
n(
x−
60
°)
=
−
1
2
;
0°
≤
x
≤
36
0°

−
90°, 30°

tan2x=1;90°<x<270°

30°,270°
sin x = 0.848 ; 0°≤ x ≤ 360°

20
.5
°,
15
9.
5°

cos x = 0.6 ; 0°≤ x ≤ 360°

0°
,4
5°
,1
80
°,2
25
°,3
60
°

sin
x
=
0.35

;
0°≤

x
≤
360°

58.0°,122.0°

tan
2x
=
tan
x
;
0°≤

x
≤
360°

0°,30°,150°,180°,360°


